63/1 (SEM-1) PHL HC 1026 (CC 2)
2021
C ( Held in 2022 )

Q
@ PHILOSOPHY |[[©
Paper : CC-2

( Logic )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Choose the correct option from the following :
1x6=6

(a) Name the fallacy where the middle term is
undistributed in the premises.
(i) fallacy of minor term
(ii) fallacy of major term
(iii) fallacy of middle term

(iv)] None of the above

(b) How many valid moods are there in the
third-figure of a syllogism?
(i) One
(ii) Two
(iii) Five -

(iv) None of the above

22KB/135 ( Turn Over )
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(c)

(d)

(e)

(1)

22KB/135

(2 )

“The subject of the premise becomes the

jon.”"—is a rule of
predicate of the conclusion.”—is a rul

(i) conversion
(if) obversion
(iii) contraposition

(iv) None of the above

Truth or falsity is a property of
(i) logic

(ii) proposition

(iii) argument

(iv) None of the above

“All terms are words, but every word is
not a term.” This statement is

(i) True

(ii) False

(iii) Absurd

(iv) Contradictory

An example of normative science is
(i) Physics

(ii) Metaphysics

(1ii) Ethics

(iv) None of the above

( Continued )

(3)
2. Write short notes on the following - 275=10
(a) Sound argument
(b) Denotation of terms
(c) Categorical proposition
(d) Contrary opposition of proposition
(e) Obversion

3. Answer any six of the following questions :

546=30
(a) Distinguish between proposition and
sentence.
(b) Write a note on expressive functions of
language.
(c) What do you mean by square of
opposition of proposition?
(d) What is conversion?
(e) Write the rules of obversion.
(f) Write a note on structure of categorical
syllogism.
(g) What is figure of syllogism? Elaborate
with diagram.
(h) What do you mean by definition?
(i) What are argument and argument form?
22KB/135 ( Turn Qver )

(¥ Scanned with OKEN Scanner



(¢ D) 9201 OH THd (1-WdS) 1/€9  S€T/006—aZZ

XN X
P1=71+Z ‘3uruosear
ONSISO[IAS Y1 Ul punoy saroe[rey omy Aue aydurexs
g utedyyg  gwsidorids yo  Aoeqey st jeypm
| 10
FI=0T+b ‘Amiquy jo Koeprey oy
spduwexs yum ureidxy ;Aoepey [eWLIONUT ST 1BYAN

Ol=L+¢ "WeIgelp UUIA
Aq uomnisodoxd .ﬁo SWAYdS Pp[OJ-INOJ [eUONIPERI)
Ay OSHOqWAS  jweilerp uwuop I CleyM

10
O0T=L+¢ "wsI3ON4s Jo
S9[NI [eIdUas oy} urerdxy (wsiSofids st yeypm
01 ‘ure[dxy ;opmmje pue
J12q Ul JUSWAAIFESIP PUB JUSWISAISE ore Jeypm

10

's30p aIe sjed [y
S[eWWew 3Ie Sjed [y
s[ewIwew 2Ie s30p [y (Q)

‘orjeUR) QI8 SISTEAP! dWOg
§)SI[EAp! 918 SIWIOJAI [V
soneue) 9Ie SIOWIOJAI WOS (e)

Ol=g4c : weagerp

UudA jo sueaw Aq sjuowingdie  3uIMo[o} A

JO Aypyeawr pue Aupres W aunudyeQg b

( ¥ )

(% Scanned with OKEN Scanner



( 4200 wny ) S
b 1) bie (1)
(W) vue () yog (ay
kale 5lab bble
240qe 33} Jo asuo) (m)

loq
dlqerres ()

bled lellsborls]
9lqewrea juspuadap (1)
|dlb) —
Dlolleblls IBl&) lea\bblle QMelbblb blikle gulle| &b
. PaTed aq ued awmn Jo
pouad & 1940 sa3ueyo yey; opnjuSews y (o)

- b0l Blb |0ObDG L& |ble bhIMsh| Glea:
O0=0xT : mgOﬂO.w
Sl WOIJ] JoMSUB 1021100 Y1 9sooyd “°I

suoysanb sy} 10f
Syupw nf aorpur wbupw ay) w1 saunby syJ

smoy ¢ : awyg

08 - SYD) NInd

SOINONODA

( zZ0T Ul PIeH )
120¢

(osa/t @v)
9101 Od/DH 004 (T-mas) 1/€9

(% Scanned with OKEN Scanner



(2)

(b) The central economic problem of every

{c)

society is
O e (AR ST Tpgt 2

(i) to maintain peace in the world
il if Tz

(i) to prevent famine in rural areas
AN wewTS ST Afeay w1

(iti) scarcity of economic resources

IR FriRe !

(iv) None of the above
SRY b8 Y

Condition of consumer’s equilibrium is
(SIeR SRANR 56 3’7
() marginal utility > price
e Semfier > gop
(i) marginal utility = price
e Sl = g
(it} marginal utility < price
oy WJ.@.@Q < T

(iv) None of the abgve
SR Whrs Ty

22KB/110

( Continued )

(d) Which of the following is true in

(3)

case of

indifference curve? .
R @R CFTO T @S 723 ?

(i) Indifference curve should touch

X-axis

e @i x-S = F e
(ii) Indifference ‘curve should touch
Y-axis A
e @z e =t = e
(i) Indifference curve can not touch

either axis A

frRere @R Qe SFP w=opf RS

AR’

(iv) None of the above
@9]qq «bI8 A

(e AVC=___

TC
Q
e
Q
.. TFC
(iii) .|©|
(iv) None of the above
@oaq oIS T

(1)

(ii)

22KB/110 ( Turn Over)
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(4)

(i When output expands, AFC
q@fen Sesime Fepiie =, (ofedl AFC

(i) remains constant

R 2 U

(i) declines and then rises

s = Prota S =@

(i) declines continuously

SiTsI Freif 2

(iv) rises and then declines

T = Pt @ =

2. Answer the following questions : 2x5=10
O SEPTRY Beq o

(a) Distinguish
between exo
endogenous variables, SRS

IR o
o gﬂﬁwowﬂagﬁnﬁmﬁ&ﬂ

(b) What is Giffen paradox?
freea st 59

(c) Write
A any  two ;
Indifference curve gMWwWEﬁDo:m of

e @ fi
eaiguny mﬂaﬁm,ﬁﬂgmgﬁ@ﬁﬁ

22KB/110

( Continued )

(d)

(e)

LG
(a)

(b)

(c)

(d)

22KB/110

(8 )

st?

What do you mean by opportunity ¢&
st 3 g f& q@n?

Mention any two limitations of I
diminishing returns.
pw eferm ffE i @ 751 Faw Ll

s T4

aw of

of the following questions :

Answer any Six
5x6=30

%@%%wﬁg”

What is meant by equilibrium?
Distinguish ~ between stable and
unstable equilibrium.

s P o A S TP
SR W A o

“Price of a product is determined by the
forces of demand and supply.” Discuss.
S B TN XA S W IR
iR =11 Sl ¥4 |

«Indifference curves are cCOnvex to the
origin.” Explain.
.jﬁjﬂﬁmﬂﬁ@wﬁ_:gﬁ_
Explain the substitution effect in terms
of indifference curves.

S i o ReR SR
g A
( Turn Over )
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(6)

(¢) Explain the main properties  of
isoquants.

TG (@ T W@REPR I 41|

() Explain the concept of Engel curve.
Qe @R AR g =

(9) What is least cost factor combination?

PR I B G A 69

(h) Explain the relationship between -
average cost and marginal cost wi
help of diagram. " st
oz e SO I AIF AT 09 qre =04
[T 9|

() “Average variable
cost curve initi
falls, thereafter rises.” Explain. el

S ARG W @ et frend)
ot SR =11 gt < R

4. A _
nswer any two of the following questions -

O PR f @I iR Say ey 10xam20

(a) Scarcity is the root

of _ .
problems. Discuss all economic

22KB/110
( Continued )

(7

(p) How can you derive demand curve from
the price consumption curve?

Ere o

T BATSI @A A (T T A
fa A7

(c) Distinguish between fized cost and
variable cost with examples. Explain
diagrammatically the relationship
among total cost, total fized cost and

total variable cost.
P g A im_q/\ul%ﬁﬂ REARIER! SEEATAE

EA ‘f.\\
ol forat | o 121G 5 9, W A T =
Ty AfgsTaE T A G

5. What is cardinal utility? Explain the defects
of cardinal utility analysis. How indifference
curve analysis overcomes the defects of
cardinal utility analysis? 2+8+4=14
FRAIET Sere f57 RIS Serre FEe
oz e 41 FRerE @ fors e
HRAIT Sl R TR Fed FAR?

Or/9%dl

State and explain the law of variable
proportions.

i REGH UF o S WE I
{5 |

14

* % X
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63/1 (SEM-1) PHL HG/RC 1016
(GE 1/DSC)

2021
( Held in 2022 )

PHILOSOPHY

Paper : GE-1/DSC
( Logic )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. Choose the correct answer : 1x6=6

wE GeI! difR Sferedt

(a) How many terms are there in a logical
proposition?

o6 RETTIS 07 GBS (25! W AWF?
(i) Two/70!

(i) Three/fSHb!

(iii) Four/Gif6!

(iv) Five /60!

22KB/136 ( Turn Over )
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2 )
| ( 8
+ich is valid and all of its . .
(bl a EDE ”m_nnﬁmﬂu (d) How many valid moods are therc In
remises &I¢ X
£ a7y WA A TG LW Ui the first figure e
il o RS (R0 T S WY
e’
i) Two
(i) sound argumecnt (i) H
e Ih
(ii) Three
(1) unsound argument byt
e e

(iii) Four
(1) strong arpumoent i1

N
wa=ni v (i) Five
(iv) vald arpumem B
T gle
(¢) What will be the truth-value of pogq, if
{ci Whih tnpe of opposion 1 there p is true and q is false?
, 7 p A% A% g @A A, GELE pog

AL 6 2472

betwoen A and E proposiion’

A Wie F o wee fo leive W

"l

i Contrary oppositio -
{o} Contrary opposition \t True
feagiE IEmee 77
(&) Sub-contrany opposilion .
{ ARy 9% a {ii) False
Bv-RwliE fTERT L
¢ ! Sub sliers OMOASITE 2
oy DUt JOTE  OPRPOSINHON > -
A i (i} Both
Wy s -
FS(S
! Coaliadelion ohposilion L o
e & - {iv] None

A L,ﬁhnw « 77

<AE/ 138

Comit e 2258136 ( Turn Over )
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(4 )

(f) “A fallacy is type of incorrect argument”
Who said this?

s TR S Iel GBI
wE?

(i) Hamilton

o -

150

(if) Bain

@2
(iii) I. M. Copi
- =R, 9F. I

(iv) Welton

-

@

2. Answer the following questions :

wo il e Ted f

2x5=10

fa) What do you mean by truth-value?
TE-To e & @t?
(b) State two rules of conversion,

TR ! Fw S w4

(c) Define categorical syllogism.

T e s ot

22KB/136
( Continued )

3.

(d)

(e)

Answer any

wme fal & @I @0l &4 o i

What is logical constant? Give an cxample

of logical constant.
Ta ﬁmgmdazﬂqswq‘uww.
Surzad

Why is shorter truth-table met
the method of reductio ad absurdum

-~
-

&M@-\% | % feq T
1@ @ A?

hod cal

six of the following questions : >’

(a) Distinguish between proposition ~ and
sentence.
57 W IR WS Al FEeiT FI

(p) Write a short note on four-fold scheme
of proposition.
AduumwAmaﬁwmmﬂamaimw,awamﬁwmamwﬁ_

(c) Can O proposition be converted? Explain.
O I TG AR ? T 9 |

(d) Write a short note on mood of syllogism.
Tiea T eoe @b 5Y R I

(e) What is the fallacy of composition? State
the types of fallacy of composition.
xawﬂadﬁmuimwdaaﬁgdm@Mzwﬂaﬂgﬂxaﬂu
RN Ty |

22KB/136 ( Turn Over )
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L

(f)

(g)

(h)

(i)

(6)

Discuss the uses of shorter truth-table

method.

sefigel -Oie Tafod Soire! S
11

Explain the basic truth-functions with the
help of truth-tables.

o) - Al (e 7o)-TePrR IOl 41 |

Discuss briefly about the fallacy of
ambiguity.
gdFoR Trrfer Rew i SiEn @4l

Transform  the  following  ordinary
sentences into logical form :

T R IRTRE T SR ARG

9l

(i) Most of the students are honest.
SIECRRAERN

(ii) Cow never eat meat.
9% (FfoRe T AN

(iif) All good authors are not good speaker.
FRE T @RE O @ 92|

(iv) Few persons are above temptation.
D TE HEeAe He 3y

(v) Virtuous alone are happy.
G R @RS m.m:

22KB/136
/ ( Continued )

(7))

any two of the following questions :
4. Answer any 02220

Gﬂaﬁﬂﬁﬁﬂgﬂﬂ%wﬁg”

(a) What is an argument? Distinguish between

deductive and inductive argument.
I P @AET? HF SIE o e TS
siiefay faerd

(b) What is Venn diagram? Explain the
method of testing the validity of argument
by means of Venn diagram.

(oS Fie @Y (AT RS e el
fadfqa e gt 0|

(c) Construct truth-table for the following
expressions and find out whether they are

tautology :

oo Tt Rfomgza sfe-oiferdl siot 1 I
TR TOTA, T 41

(i) poqlp-q)

(ii) p-(~pvq)
(iii) (pvq)-(~p-~q)
(iv) ~[polpvql

22KB/136 ( Turn Over )
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(8 )

§. Answer any one of the following questiong .
|
ware il R i @bt e Oed 4

(a) What is a figure of syllogism? Explai,
the figure of syllogism with PTopes
symbolic form.

TR R FF @A TRE ﬁ@%wwm
U SRAPRE  |

(b) Explain the technique of shorter trygh.

table method with an example.

CIRITR B TS TRy oy
TEE 01

* ok &

63/1 (SEM-
22KB—3650/13¢ ! * (SEM-1) PHL H(Cé{ERC 1016
1/DS()
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3 (Sem-5/CBCS) PHI RG 1

2021
( Held in 2022 )

PHILOSOPHY

Paper : PHI-RG-5016

( Indian Yogic Tradition )
( Regular Generic )

Full Marks : 80
Time : 3 wocwm.

The figures in the ,Sm@.: indicate full marks
for the questions

Answer either in English or in Assamese

L. Answer the following as directed : 1x10=10

IS A ot Sepifd T fore

(a) The founder of Yoga Philosophy is ____.
( Fill in the blank )
I 7o 2qEF 2 |
(4@ 5 o1 )
20A/373 | ( Turn Over )
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(4]

(c) Name two great ~commentators ¢

Vyasa-Bhasya.
-SRI TR SR A fod |

(d) What does Tirtharmkara mean? Who was
the last Tirthamkara of Jainism?

S T 7 0 AR ovReE Sl
1 =NfRe 2

(e) State two differences between Jianayoga
and Karmayoga.

S W TR TG B AL Semd
M

3. Answer any four of the following : 5x4=20

R R I B T oy -

(a) What are the five kinds of Cittavrtti? Write
in brief,

foegfen <imb oom fo f 9 VYL for |
(b) What is Karmayoga?
A 9

(c) ‘Fi
What are the Five Great Vows’ of Jainism?

0 g ,éﬂmﬂﬁ oo
22A/373
( Continued )

(421

reath of Buddha
(d) Discuss the Fourth Noble Truth of BY
o .

philosophy-
ATl -

v fer 9 T I

(e) Write a short note on Prandyams
—T R ekl
(f) What is Saccidinanda according (O
Sri Aurobindo?
Sreafa TS AW f&2
ions : x4=40
4. Answer the following questions - 10x=
oo eppTyR ad ot :
(a) Discuss the essence of ‘Yoga' after
Patanjali’s Yogasitra.
ofSePR ‘@IPE'T SHES T AT T
NGRS
Or / J«T1
What is Jianayoga? How does it lead to the
realization of Supreme Self?
S 57 SREIE NS (T TR
T Soref R @ T, B
( Turn Over )

22A/373 .
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(6] (7)

(b) What is ‘Cittavrtti Nirodha' according (d) Rijayoga is divided into cight steps. [nscuss.
Yoga Philosophy? Discuss. I sty 1S S 2505 | WA
%%ajw@éw%,m@aﬁ@ﬁ 41|
T 7 oAl 94 | or /

| ¢
Or/ &I Write in brief the Integral Yoga O
s ‘ o,
Give a brief account of Astangayoga of Yog, Sri Aurobindo o
System SroraR <A T AT BT 1
@Al o BRI SIT© b1 B SAICeAoay Xk K
<q1

(c) Discuss the concept of Nirvana according to
Buddha Philosophy. Does Nirvana mean

total extinction of existence?

(T ™1 R 4R 13901 A
e i o R en a9 ifs 2

Or / 9gqy

What is ‘Triratna’? Discuss with reference to

the concept of Liberation of Jaina
Philosophy.

R 0 R 2 vt e
.gﬁdaﬁ_mm:gj_ A 4999

22A/373

22A—4000/373 3 Am@Blm\OmOmu PHIRG 1

( Continued )
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3 (Sem-5/CBCS) PHI HC 1

2021
( Held in 2022 )

PHILOSOPHY

Paper : PHI-HC-5016

( Analytic Philosophy )

( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
i oot fracares Seq fra

(a) Moore is an idealist/realist philosopher.

(Choose the correct answer)

T4 e Al /i af |
(e Taqeo! q1fg Sfersa)
22A/274 ( Turn Qver )
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(2) (3)

(b) Moore did not draw any distinction

s, ent
A s . .ﬂ—ﬂ.: \H:_m m~ﬁﬁ03(=
sciousness and the object of (f) ‘“‘Language isan :a.:::.c e vith his
DEswEER, SOF | of Wiltgenstein is assocl e
x W ico-Philos
eONEIOIE (Write True or False) book  Tractatus ~ Logico EilL
_ : , Philosophical Investigations. —
T4 G 9% (IR e &S @I (Choose the correct 2
1 , g%,ﬂ_ | 29 T m;meLm & ﬁ.’ el
s (3791 (A1 =P7) @A_v T 9 it | 2L Mnﬂ‘ 0 ﬁthWO.UMMMv\A
T 58 tatus OFIce=
fef asscording, 1o Ruséel, @ propustion 1. Mc.“w wMM_nN ?émm.mm:.c:ﬁ%ﬁ@@_
050
: : | &)
simple symbol/complex symbol. (7 Saact] A1z St
(Choose the correct answer) . b
(< B ding to Wittgenstein, a name refers to
AEE TS, <Gb) 364 57 5O /b 9@ | (g) According
(o Seeht AR Tfersan) fact. Is it true?

(d) Russell delivered the lecture  entitled

R q0S, ol A 90 (fact)® |
S .
251 ST ?

i €
(h) Name onec analytic philosopher who mm».<
utmost importance on the logical form of a

‘Descriptions and Incomplete Symbols' in the
year 1918/1924,

(Choose the correct answer)

MWRA  “Descriptions  and

Incomplete
Symbols® % TFeTH s33v/3388 b |
wfafes

wnocOmEoP

7o oF weR Teord e @ S
1 o ReRras e = o

" -m

(i) ‘A fact is neither true nor false.” Is thi
i 2
statement true according to Russell?

“@h1 v (fact) ST HIA S RICACOTAE,

(0% T&51 R Srea)
fe) According to Wi

1igenstein, the world s the
totality of things/facts,

(Choose the correct answer)
R w7

= i TP e s

% SC01 oA ?
e 5 ST /T (fact)q ey 1" e TS R R N
e (i) Give one example of a molecular proposition.
(% S50 3 Saeny) :
274

T o Gor T )

( Continued ) : 224/274 ( Turn Over )
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(4)

2. Answer the following questions : 2xS=10
}

et ATl O fi |

(a) State two differences between atomic A._

proposition and molecular proposition.,

AR T R SRS o TGS < T |
sfrefq ferdn |

(b) What are the differences between sensation
of blue and sensation of green according to
Moore?

T@ WS Nl 67 @AW HF GIOGR 67
AR oS & & 1<y o, @4

(c) *‘When I say, for instance, ‘All Grecks are
men’, I do not want you to suppose that
implies that there are Greeks.”

What docs Russell mean by these words?
“afem R SR 76 @ S A
TR, WR 7€ R @A @30 4R @G

RRven @ St B g s
uHE.MNM_:

asﬁﬁmﬁ%@ﬁzﬂmﬂmg

(d) How many sorts of descriptions are (here
according to Russell? What are these?

O 300 R 9 017 ot s o

22A/274
( Continued )

(6]

(¢) Why do logical positivists try to eliminate
metaphysics from the domain of philasophy”
Give reasons,

ol gersafinaea  ufifrgs (e o
CRIFT | A wfda @ 5747 54
el |

&

3. Answer the following questions (any four) :  544-20

worq A Sag fan (R e wifsn) -

(a) Why did Moore revolt against idealism?

e o s fReees facare [ «fdfea 2

(b) Why did Russell consider ‘The author of
Waverley' as an incomplete symbol? Give

reasons.

e ‘The author of Waverleys &
wpreldf 9@ 3 si SR 7 IR Wi

(c) Why did Russell consider ‘Romulus’ not as a
name, but as a sort of truncated aamn%aosﬂ

Give reasons.

Aeee R ‘Romulus'® @B A fReeet =, <01
e Raad Roreeez a0 $feg? FRT A |

20A/274 ( Turm Over )
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22A/274

(6)

(d) How docs 2 E%oa:o: picture reality

according to Wittgenstein? Discuss.

S W 9B T T S,
foafre 3 2 SCEARA 911

(e) Write a short note on ‘Family Resemblance’,
“onfiaifee ST’ I 9fb O GO e |

(f) What is Vienna circle? How do the logicy
positivists attempt to prove that metaphysic
is not verifiable?

R s f2 ofW dorwaPRET SR
AT 7= 3 T SR8 FRY Ko 9

4. Answer the following questions : Sxfé

o] SPIRIRY Oe] iy

fa) How does Moore refute idealism through his

paper entitled Refutation of Idealism?
Discuss, .

T (957 ‘Refutation of Idealism’ T o

RIS (P SR 457 ifee 9 SIS
Sl

10

Or /g3y

Elucidate various charace
Philosophy,

Remar « 2
ﬂﬂmﬂﬂmﬁ.ﬁﬁﬁj_

( Continued )

teristics of Analytic

f
ﬂ
i
|
t
mq
|
i
{

(b) What is logical atomism? Why does Russel)

(c)

22A/274

(7))

s

consider his atomism as logical? How is fact

connected to logical atomism? Dizcnss.
2424610

I

R N &7 W ceda mmEs
ol M fim? e (fact)r e €A

Or / 9%31

Write a summary of Russell’s lecture on
‘General Propositions and Existence’. 10
WEE TR T 9F Gfeg TAs 52
B! AR ST |

Discuss the relation between meaning and

use after Wittgenstein. 10
TR PRI IR Y FF SR TS

@1 ST R e 41 |

Or / 9§31

Why does Wittgenstein emphasize on the
multiplicity of language game in his book,
Philosophical Investigations ? Elaborate.
TR @& Philosophical
Investigations A JRIFS RT-$IOR I
oy @3rg S FRER? TR A F0 1

( Tum Over )
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(8)

(d) Discuss Wittgenstein’s Private Language
Argument.

SRR Gfere ©ER B! Seamsy
<911

I

Or / 931

What are the similarities and dissimilarities
between  early Wittgenstein - and  later
Wittgenstein  with regard to language?

Explain,

E%TZ TS AR-SRe WS-
\memwm

/2 =

* % %
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Paper : PHI-HE-5026 ,

( Philosophy of Gita )

( Honours Elective )

Full Marks : 80

Time : m hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
fRetpiRt were frarcarq Teq fran

(a) What is the literal meaning of the term
‘Bhagavadgita’?

BRIl *UoMA Jeeifere el &2

224/321 ( Turn Over )
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(b)

(c)

(d)

(e)

)

(8

22A/321

(2)

o 9
Who authored the ook, Cild Rahasya’

Gandhiji interpreted the Bhagavadgita as the

Gospel of Karmayoga. Is it true?

TS sriie’s S ARkE T R
TR FRI | I TR 7

What is Karmayoga?
e 2
Who is the speaker of Bhagavadgita? “

SRR I (T ?

What is the meaning of the term “Yoga’?

‘@ eoR §9Y {2 |

Gita Rahasya is also known as :
( Fill in the blank )

‘M1 0%

Tfere = A | |
(WA EFT)

( Continued )

(h) How many Slokas are there in the Git

¢

(3)

Me1's Rl car =ms 7

L..\

(i) Karmayoga is not opposed to JAanayoga.

( Write True or False )
TS /AR R 727 |
(7 & 57 e )

(/) What does Lokasarhgraha mean?

PR A 9

2. Give short answers of the following :

wore frgpTed oY ©ed fil -
(a) What are Arjuna’s main reasons for his initial
unwillingness to fight against Kaurava?

@ R RSt S§A T/ OFEEA
wfAvge IR IR & nfee 2

(b) What is ‘Ksetra’?

‘ona 2

(c) Karma comprises of what kind of actions

22A/321

according to the Gita?

o3 7oo 3 o 3 fomm i ?

( Turn Over )
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(4)

larly wced by whie
d) The Gitiis pamculml) influct y whic,
( 7 N

(d) What do you mean by Saticir
two Upani.sads?

=2
)7\'-‘-:4‘,

w1 abdrrer b
A i 5 b 99

Sor’ e @ T GUGRAER
K (¢) Write a short note on Uttarma Purusa
. rerse, ‘Karmanye.- ‘

(e) Write te " kadachana’ San e fiwm of 53 o e

vadhikaraste mé phalesu ka ' = EASTRER

= . v
S{ARIRIRCE T T o —4R CIR0Y &y (f) Find the relation between Individual Seif and
&9 Ultimate Reality.

& ik -
99 38[ (e &g = 2w

3. Answer any four of the following questions : Sx4=y [

O AP R e oo T o - 4. Answer the following questions : 10<4=40
O SPPITRA BT for

(a) What is Jianayoga?
(a) Explain the Gita's concept of Yoga. What are

BRI 2 the different kinds of Yoga?

(b) Write a short note on Niskama Karmayoga. ‘ ‘P @R YRICT T | [ew T

?
T R e o 5y Gl o o . R
; ; Or/ I

(c) Explain the similarity between Niskama What are Karma, Akarma and Vikarma?
Karma of the Gitaand Kant’s ‘dury for duty’s “ Explain with the reference to the
sake’. Bhagavadgita.
Ters Fzm 7 W A9 FER 01 T o, sl W Rey R SRR W
e e < <=4 ) M 0

224/321 (Tum Over )

( Continued ) 22A/321
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(6) (7

e concept of LOkleamml

(b) Explain tl (d) What do you rmean by reconciliation of

sccording to Bal Gangadhar Tilak, Yogas? Explain its significance
s e TP TS g | ff$ amra cm o b w0 v
{ ESGEEIEZ
Or/ 9l ;

| Or / 971
What is Svadharma? How does Svadharma |

lead towards Moksa? Discuss.

What do you mean by the concept of

el B0 2 A @A Eﬁﬁ - % Liberation of the Bhagavadgitd? Discuss.

T, S F41 STEeY QT R I 7 72 T
? 0
* %k
(c) Explain the difference between Purusa ang
Prakrti,
PSR S8 T AP e 1

Or/ g33r

Discuss the na ’
ture of Prakru Wh ‘

at ‘

Glmas of Prg 0 are the l

TR Qg s g TNE e |

22A/321
- cS) PHI HE 2
22A—3000/321 3 (Sem-5/CBCS)
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PHILOSOPHY

\ Paper : PHI-HE-5026
\ ( Philosophy of Gita )

\ ( Honours Elective )

\ Full Marks : 80
\ Time : m. hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

et wore framcard Ted i -

(a) What is the literal meaning of the term

‘Bhagavadgita’?
“Garel” BRI oS oy 12 |

224/321 (Turn Over)



(2)
(b) Who authored the book, Gitd Rahasya?
ol T T (A P Ffifee ?

(c) Gandhiji interpreted the Bhagavadgita as the
Gospel of Karmayoga. Is it true?

NG sEders TR ARkd I e
I SRR | FIER O ?

(d) What is Karmayoga?
o 2

(e) Who is the speaker of Bhagavadgita?
SR 'T I (M ?

(f) What is the meaning of the term ‘Yoga’?

‘@’ =R 9y 9

(g) Gita Rahasya is also known as
( Fill in the blank )

FRs T |
( 190 8% o w1 )

el =20

22A/321
( Continued )

(3]

(h) How many Slokas are there in the Girg?
WIS R s s 9

(i) Karmayoga is not Opposed to Jidnayoga.

( Write True or False J

T WA R 7z |
(78 & === 7 )

() What does Lokasamgraha mean?

LT A 6 9

2. Give short answers of the following : 2x5=10
oo fraeTgRe 5Y Seq fi

(a) What are Arjuna’s main reasons for his initial
unwillingness to fight against Kaurava?

@@ Roes wefie w§m @™ IR
e @RR IR R wike 2

(b) What is ‘Ksetra’? .H
‘o B9

(c) Karma comprises of what kind of actions

according to the Gita?

“Fror'q 7o 3] B R fem R 2

22A/321 ( Turn Over )
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(4)

(d) The Gitdis Eanam% influenced by which
two Upanisads?
e’ REESIE @ 737 SAREE 7RI eeifye 9
(e) Write the meaning of the verse, .ngcwm-
vadhikaraste ma phalesu kadachana’.

FHCRIRIRCE T T, 07— CIRfoq
M)

3. Answer any four of the following questions : 5x4-=7(
O PP [ e wReR ey o
{a) What is Jianayoga?

|HEN 9

(b) Write a short note on Niskama Karmayoga.
T PR ST ofs oY ot o |

(c) Explain the similarity between Niskama

Karma of the Gitzand Kant’s ‘dury for duty’s
sake’.

o3 B 3 W w1y e ,
e Bt 7 | FOIR I F99°F

22A/321
( Continued )

{
]
|
|

|

(5)

(d) What do you mean by Satkarya

vada?

RETF o B F 7m1 9

(e) Write a short note on Uttama Purgaa,
o7 o R ot 5 G

(f) Find the relation between Individual Self and
Ultimate Reality.

*RT 318N (7S QRN & fifs =71

4. Answer the following questions : 10=4=40

O PP T o

(a) Explain the Gita’s concept of Yoga. What arz
the different kinds of Yoga?

‘MY @R YR T I} [{E sow
QIDREACY

Or / {1

What are Karma, Akarma and Vikarma?
Explain with the reference to the

Bhagavadgita.
=, o o Rl B2 SRy WS
[ FAN
22A/321 ( Turm Over )
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(b)

(c)

22A/321

(6)

Explain the concept of Lokasarhgrahy
according to Bal Gangadhar Tilak.

T R (o779 TR GIETCHT 00T <4 |

Or / 9341

What is Svadharma? How does Svadharma
lead towards Moksa? Discuss.

T R e T QERA R’ o figk
T, SO 37 |

Explain the difference between Purusa and
Prakrti. .

TP S SR 1o <Ny 3 |
Or / 9337

Discuss the nature of Prakrti. What are the
Gunas of Prakrti?

( Continued )

(7)

fd) What do you mean by reconciliation of
Yogas? Explain its significance,

Rfen aema am s a5 gm0 3o
w1 M 91 |

Or / J41

What do you mean by the concept of
Liberation of the Bhagavadgita? Discuss.

SoRTEe'Y (TR YT e o @ 2 i
il |

¥* % &

5 2
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